
1  

 

السنة الأولى ل م د (علوم اقتصادية  
 

ا

 

ـ1

Market Demand

ـ 2

ـ3

76

 



1  

 

السنة الأولى ل م د (علوم اقتصادية  
 

876543210PX 

012345678QX

ـ4



1  

 

السنة الأولى ل م د (علوم اقتصادية  
 

ـ5

 

   ـ6

http://cte.univ-setif.dz/coursenligne/microeconomie/chapitre1.html#intro
http://cte.univ-setif.dz/coursenligne/microeconomie/chapitre1.html#intro
http://cte.univ-setif.dz/coursenligne/microeconomie/chapitre1.html#intro
http://cte.univ-setif.dz/coursenligne/microeconomie/chapitre1.html#intro
http://cte.univ-setif.dz/coursenligne/microeconomie/chapitre1.html#intro


1  

 

السنة الأولى ل م د (علوم اقتصادية  
 

 

ـ7

 



1  

 

السنة الأولى ل م د (علوم اقتصادية  
 

- 

… 

  

   



1  

 

السنة الأولى ل م د (علوم اقتصادية  
 

px .py. pZ, R.G) Q=F

QpXpY  pZ  

R G 



1  

 

السنة الأولى ل م د (علوم اقتصادية  
 



1             

   

2                

   

               

                 

  

             

               

  

              

               

       

             

              

             

3              

       

Qsx=f(Px,Pa,Pb, Pk,PL )  

  

X Qx 

X Px

 PL Pk

Pa,Pb 

T 

 



1  

 

السنة الأولى ل م د (علوم اقتصادية  
 

Qs=C+dPx 

 

X Qs 

X Px 

C,d 

d

x 

Qx 
0246810PX 

1020304050QX



1  

 

السنة الأولى ل م د (علوم اقتصادية  
 





3

 



1  

 

السنة الأولى ل م د (علوم اقتصادية  
 



1

Ep = ΔQda٪ ÷ ΔP٪  = ΔQ ⁄ Q1/ΔP ⁄ P1  =ΔQ ⁄ ΔP.P1 ⁄ Q1 =dQ/dP . P/Q  
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Δp٪= -0.2٪    ΔQ٪=0,5 ٪  EP = -2,5 EP>1
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ES=∆Q/∆P. P/Q=(35-30)/(15-12) . (12/30)=0.66 

10.66


